MODELS _
Eo:ﬂm :
I

m.\wuar.emsaomoawuc
EMBOSS. Y CONSIST OF A
WOFL\OHGWSHOR‘I’PM
SECTIONS.

LONG PANEL OPTION

cm&;mm

e

SII.ESWMWTW-L‘-WW
(ALONO CEMTER)

SHORT PANEL OPTION

© ——— -

7' DOOR HEIGHT U~BARS SHOWN

SHOWN ON THIS DRAWING MEETS THE

DESCRIPTION

REVISED STRUT PATTERN

ADDED ROLLER OPTION

ADDED NEW MODEL NUMBERS

ADDED UPDATED GLAZING OPTION

REVISED WIND SPEED TABLE FOR ASCE7-10.

REVISED FOR TDI

REMOVED REF. TO ACRYLIC GLAZING. MAX GLAZING DIMENSIONS ADDED.

REMOVED WIND SPEED TABLE.

REV DATE
THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC. | 01 | 08/05/05
OPTIONAL w;NDOW LITES DSB ();I.m 02 09/27/05
AVAILABLE. (SEE SECTION C-C
{MAX C!T—OUT NOT TO EXCEED 18-5/8" WIDE X 05 04/30/07
15-1/6" TALL J14x5/8" SHEET METAL SCREWS 04 | 07/26/07
05 | 01/31/12
06 | 08/20/12
000 R 07 | 06/05/13
: 22 08 | 08/2016
14 GA_END HINGES
R 09 | 11/23/20

UPDATED

TIMLE BLOCK AND ADDED COMPLIANCE STATEMENT.

HORIZONTAL TRACK SUPPORT BY

DOOR INSTALLER (70 SUIT}‘#

TRACKS UP TO 8' |N HEIGHT

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO 'SUFT)'W|

| 13 GA. GALV. STEEL FLAG BRACKET.
' EACH FASTENED TO WOOD JAMB WITH 13 GA. GALV. STEEL FLAG BRACKET.
(3) 5/16"x1—5/8" WOOD LAG SCREW. ' EACH FASTENED TO WOOD JAMB WITH
jocx rosmou : (3) 5/16"x1-5/8" LAG SCREWS.
TG PONT LOCIONG .:l-: W&Lﬁ M
o NOTE: TRACK CONFIGURATION
I \ . SECTIONS WITH ONE U-BAR: POSTION u ABOVE THE DOOR OPENING — AS NEEDED.
' AT TOP DF SECTION AS SHOWN DOES NOT AFFECT THE WIND z ap*
DVER HINGES. o LOAD RATING OF THIS DOOR. o MAX
ST T L o 5| g :
Pl a
! BOTTOM OF SECTION ABOVE HINGE 2" GALV. STEEL TRACK, x 4 H 2" GALV. STEEL TRACK,
OR ABOVE BOTTOM BRACKET AS L /- TRACK THIGKNESS: 060" S M /‘ TRACK THICKNESS: .060" MIN.
- — A SHOWN, |:E L o
SECTIONS AWITH [THREELUS BARS, o} I 24* TYP 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
| UK, DOOR WOTH = 180" P R IO S oIvE n] CTYP) TRACK BRACKETS PER SIDE (UP TO 10' HIGH).
/ A theTae OF SECTION, T . % s TRACK BRACKETS PER SIDE (UP TO 12' HIGH).
FOR MODELS G4L. GDAL. G4LV.GD4LV. E4L. EDAL. EALV (SEE HEIGHT CHART FOR U-BAR e TYP. 2-1/2%12 GA. GALV. & DISTANCE BETWEEN FLAG AND TOP TRACK BRACKET
EDALV. MR4l. MRA4LV, GlL4, GR4L, GL4Y. GRALV. SL4 ARRANGEMENT> S STEEL TRACK BRACKET. I o NOT TO EXCEED 30" 0.C.
L 4) TRACK BRACKETS PER SIDE.
ARAL, SL4V, AR4LY ONLY (LONG EMBOSS DOORS): GALLERY 24GA W5-16 / 5 @ g —
?gbﬂognmbz GA. COMMERCIAL INTERM. STILES REQUIRED FROM 11°6" WIDE ND, OF STRUTS PER SECTION E?,.X%GFR&#EOUTW@DE“&RFME _ 1 é OTE: FOR DOORS OVER HEIGHT -
SEE 'STILE TABLE FOR LONG EMBOSS DOO [PO0R HETGHT] '{JW o 12'=0" HIGH, TRACK 6" | 94"
THESE COMMERGIAL CENTER STILES. ARE ATAGHED MIDPOINT BETWEEN THE FI. _IN. A ﬂ LHR TOP BRACKET i CONFIGURATION SHALL NOT T
EXISTING RESIDENTIAL CENTER (Tts)nuzs COMME)RCIN.(C)ENT;R STILES ARE O 3 EE EEE DOUBLE HORIZONTAL [ 3-1/2 et v NV T T TN
ATTACHED WITH TOG-L-LOC (TOP & BOTTOM) OR (4) 3/16" POP RVETS OR =I=1=1= : : = z
{4) #8 SHEET METAL D e e TRACK FOR MORE DETAL IF RQD. :g’ d ::;
S =1=1-1- DSB OR ACRYLIC GLAZ B 10 | 124"
STLE TABLE FOR_LONG EMBOSS DOORS _ ~ STILE TABLE FOR SHORT EMBOSS DOORS —T=1=1- LITE RETANER 1~ 14 B vERD screw S et
! ! OF OF STD/ o 1 B 0 SCREWS PER DOUBLE TRACK "0 g
DOOR Fnoes |Rneru | Recra DOOR foies |Bashar == e
1| R STLES | SULES | WDTH STLES | === o145
T0 1 04 D - 2 10 100" 1 == SECTION A-A (SIDE VIEW) STOP MOULDING BY DOOR INSTALLER (10 SU) TRy
| 116 10 1510 021011, [ I R . 246 YELLOW PINE il 16 GA. MIN. GALV. STEEL END STILE T e
140" 70 160 140" 10 160" |3 3 o = 2u THICK X 46" | 166°
=== 20 GA. GALV. STEEL INTER. STILE 150" | 178"
EQUVALENTSECTION_ CONSTRUCTION: FOR ANY OF THE MODELS LISTED I o i s g S $ 1567 | 178"
ON THIS DRAWING, THE FOLLOWING W-—LEVEL DOORS USE EQUIVALENT LU A TRACH 16'0°_| 184°
=1~ GALVANIZED SKIN WITH BRACKETS FASTENED TO WOOD JAMB S
SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING). ﬂ == A BAKED—ON PRIMER, _ WITH ONE 5/16"1-5/6" LAG SCREW n
W3, W4, W5, == TSEDCSA?KEEG%? _ré)L;g_?gER ) PER TRACK BRACKET. NS/ UD. ROUND PUSHNUT
ANY OF THESE W—LEVELS MAY BE SHOWN ON THE OPTIONAL SHIPPING o ” caw STEEL INTER.
LABEL ON THE END STILE. == SIDES OF STEEL SKIN. 12 GA GALV. STEEL ToP FASTENER:(ORE.PER ROLLER). ﬁﬂ? 16, e STlgS m?g‘)
== — BRACKET ATTACHED w/(4) 2" GALV. STEEL TRACK FASTENED TO 14 GA ALY I ROLLER HINGE
18,5 2, TS B LD, 7 O 108 T e oo : swop s~ [ | SRR TSR RO S R Y
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN = — . or = - WITH ONE 1/4°x5/8” BOLT & NUT 4) 1/47%3/4 SELF TAPPING SCREW'S PER END HINGE.
CREATE THE WOUNTNG, SURFAGE, ALTERITVELY, THE  BRAGKETS. MAY BE ATTACHED, ST = SERED [ e .
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF a8 3 = 14 DENSITY POLYSTYRENE FOAM 14 GA. GALV. STEEL T STEEL OF NMLON TRE T FOLLER
z)m ;:0'-‘- "wargzngr ﬁ&v%ﬂnmmﬁﬁgm LAG. SCREW. 6’3 10 8'0° 4 14 = INSULATION 1-5/16" THICK WITH END HINGE. EACH PREPARATION OF JAMBS BY QTHERS, "
ALLBOAR STRUCTURE e 3 VINYL HAIR K
FRAMNG MEMBERS). A 2X6 SOUTHERN YELLO PINE WOOD BUCK OVER SHALL BE S 010 S 14 (|NSUU:'TED Mg%"ELLSBAngY’; ;ﬁTEEsN%? T4°) E’ﬂ 5 /8" SECTION €-C
NSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT 10'3* 1O 12'0 6 é{ g Evé SNAP LATCH ENGAGES
PASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF SHEET M ONTO VERTICAL TRACK.
eI N e S e I WSO, [ | e S L
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. 143" 10 160° 8 TAPPING SCREWS. END SLIDE BOL INTER. STILE '
MAX SECTION HEIGHT: STLE LOCK ENGAGES
—| |2’ FROM EDGE 24” .m'NTOH:
; \ 3" TALL x 20 GA. GALV. LOCK ON OUTSIE JOLE
NOIE: THE DESIGN OF THE M TN » TA AR A STEEL U—BAR. EACH U—BAR ATTACHED EACH SIDE END
N SUPPORTING STRUCTURAL ELBVENTS 3" TALL U-B, === WITH TWO 1/4"x3/4” SELF TAPPING oF oo STLE
R e e RO SO T 20 GA. GALV. STEEL SCREWS PER STILE LOCATION. e {iSioE [FANDLE
BUILDING OR STRUCTURE AND IN W g
ACCORDANCE WITH CURRENT BUILDING " bt
CODES FOR THE LOADS LISTED ON —"I 3 LOCK BAR QUISIDE _KEYED LOCK
THIS DRAWING. I BIAGES W SNAP |ATCH LOCK OPTION
PREPARATION OF JAMBS BY OTHERS,
) 1-7/8" "=1 B Exch ste
VERTICAL JJAMB ATTACHWENT (WOOD FRAME BUILDINGS): ] 13 GA. GALV. STEEL BOTTOM BRACKET.
3/8°%3" LAG SCREWS ON 15° CENTERS. 1—1/8° 0.D. WASHER REQUIRED. LAG SCREWS . ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS. LEC A s
MAY BE COUNTERSUNK (BUT NOT REQUIRED) T0 PROVIDE A FLUSH MOUNTING SURFACE. ALUMINUM EXTRUSION DESIGN LOADS: +30.0 PSF & —30.0 PSF.
[ & VINYL WEATHERSTRIP. TEST LOADS: +45.0 PSF & —45.0 PSF.

3/8%3" su.swsmcum 'BOLTS ON 22" CENTERS (2000 PSI MIN. CONCRETE).
v.‘sﬂ INCLUDED WITH SLEEVE ANGHORS.

1/4 x3" TAPCON SCREWS ON 14 CENTERS (2,000 PSI MIN. CONCRETE) OR 17°
CENTERS (C-90 BLOCK), 1° O.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR
JAMB CONFIGURATIONS.

DESIGN ENGINEER MARK 'NESTERFIELD P.E.
FLORIDA P.E. §48495,,

NC P.E. #23832,

TEXAS P.E. ﬁ91513

R elopay

CORPORATION

8585 DUKE BLVD.
MASON, OH 45040

(513) 770-4800

CLOPAY CORPORATION

MANUFACTURING PRODUCT CODE
SHORT PANEL: PAN—-2F443
LONG PANEL: PAN—2F441

WINDLOAD RATING

MAX. DOOR SIZE:
16'0"W x 16'0"H

Clopay Corporation All Rights Reserved.

The arrangements depicted herein are the sole property
of the Clopay Corporation and may not be reproduced
in any form without it's written permission.

DESCRIPTION:
DATE: 6/01/05 G4S, G4SV, G4L, G4LV; 16'W +30/—3O PSF
DRAWING NUMBER:
DRAVN BYr |\ B 103471




